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Section - IV / @UT - IV
MATHEMATICS / Tfuta
There are 30 questions in all in this section.
All questions are compulsory.
WEREHTA 30T § |
adt uw aAfee §

9I. Write the following four numbers in descending order :

I. 4203567

II1. 4203657

I, 4203756

IV. 4203675
A I, 11, 111, IV (B) I, Iv, 1L 1
€ LI Iv, I (D) 1L, 11 vV, L.
fefefen =R demss 1 s=dE %9 1 fog .

I 4203567

II. 4203657

. 4203756

IVv. 4203675
(A I, 11, III, IV (B) I, v, I, I
€ L1, 1v, I Dy UL IL TV, L

92. One crore is equal to

(A) 100 lacs (B) 1000 lacs

{C) 10 lacs (D) 100 thousands.
TH Hlg TN §

(Al 100TE *F (B) 1000@@ %
(C) 10€@ % (D) 100%&N ¥ |

nannam (101 | | P.T.0.
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93.

94,

95.

o8 &

The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be
written as

(A} 59004988 (B) 590400988

(C} 509049088 {D) 50904988.

& 5 U 9O 4§99 e it ol § fom W owmw g
(A) 59004988 B) 590400988

(C) 509049088 (D) 50904988.

The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is
(A) 20883 (B) 21883
(C} 20893 (D) 20783.

TF A W FA TGS 78692 ¥ | T § 29642 T €, 28167 Higemd E awm Ima=w ¥ 1 @
T ot wEm ®

(A} 20883 (B) 21883
(G 20893 D) 20783.

If we divide zero by 60, then the dividend, divisor, quotient and remainder are

respectively
Ah 0,60 00 (B) 60,0, 1,0
C) 0,60 01 (D} 60,00, 1.

¥ H 6O U A T W, WIS, ITRE T W9 e §
A} 0,60.0,0 () 60.0. 1,0

() 0.60,0,1 (D) 60, 0, 0, 1.
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96.

97.

69
The value of 15 coins of 25 paise each is equal to

I, 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 paise

I1. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 palse

III. 3 coins of one rupee + 3 coins of 25 paise

1V. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong statement is
U (B) 1
< 1 (D) Iv.

2598 F 15 fEerl =1 A= s #

I. T&%oF 3 fawn + 5009 &1 1 a5 + 25 T8 =1 & fqge
1. TH 3o F 2798 + 50890 & 3faFw + 25 %0 =1 w= fawem

. T& %o F 3faer + 26T & 3fgsk
IV. TH%o & 3fger + 2590 & 2fgsF

Iqg® I H | e e ¥

A 1 (B) 111
< 1 D)y IV.
The arrangement of the fractions % . g % ] %

W 2.1.5.3 o 3
© 3.5.3. % o Z.
i 231 e

W 5 58 a ® 3

Q@iot

Lo~

L= ool

TR

W Wi

in ascending order is

@i Y|

i1 O

L-1

[ P.T.O.



Download from JbigDeal

L-1 70 Dﬂ

98. If the cost of 5 pencils is 3% rupees then the cost of 2 pencils is
3 3
@) Re. 7 (Bl Rs. 5
4 2
(€} Rs. 3 (D) Re. 3 -

gfe 54fwel =1 qea 32 %o ¥, 2 Il 1 qem Em

@ 2% B 3w

© 3% O 2%
99. Which of the following statements is true ?

(Al 1 is not a prime number (B) 1 is a prime number

(C) 1 is a composite number (D) 2 is not a prime number.

feafdsm-wwFEad ¢ ?

(&) 13w dem 8 ¢ (B) 139 W R

() 14y® wEme (D) 2 39T HeE &l ¥
100. The prime factors of the number 720 are

(a) 2x2x3x3x2x5 (Bj 2x3x4x5x6

00 3x3x4x4xDb5 (D) 2x2x2x2x3x3x05.

WE&AT 720 % A UGS §

1\ 2x2x3x3x2x5 (B) 2x3x4x5x6

(00 3x3x4x4xbH (D) 2x2x2x2x3x3x5.

(LT (101
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101. What is the highest common factor ( HCF ) of the numbers 425 and 476 ?
@ 4 (B} 5
L8] 17 {D) 51.
FEmaf 425 791 476 F HETH WATEH ( Ho Ho To) ¥
) 4 (B 5
i 17 (D) 51.
102. What is the least common multiple ( LCM } of the numbers 90, 60, 75 and 35 ?
A 2700 B) 6300
(© 4250 (D) 2750,
d@Ea 90, 60, 757U 35 W1 THAH HAMEH ( To Ho Yo ) ¥
A 2700 (B) 6300
(C] 4250 D) 2750.

103. Five persons paint a house in 3 days when they work 8 Hhours everyday. Then if one
person works 4 hours everyday, how much time ( day } will he take to complete the

same work 7

15
(A 30 (B) 5
6 3
Q) 5 (D) 10

TH W H @R 53, 86 U9 &9 =% 3f d s § @ 1=fw, 4 ¥ 09 sm
IQ & & fea faq # =m 2

15
) 30 B) 5
6 3
Q) 5 (D) 10

(LR [ P.T.O.
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104. The marks obtained in 4 subjects in an examination are 200. If the average of marks

105.

106.

obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?
) 50 (B 144

() 152 (D) 56.

T e ¥ 9r fawdi § um Fo i 200 ¥ 1 9fg @ fawat F wm i w1 ofwa 48 % @t =9
fawa & wm of® ¥

Ay 50 (B) 144

(@ 152 (D) 56.

A person sold a cycle at Rs, 935 with a gain of 10% then at how much amount did he

purchase the cycle ?

(&) Rs. 945 (B) Rs. 850

(C} Rs. 925 (D) Rs. 1,085.

T =fF A TF giEfhd 935 % W 10% oY W o=t A1 394 9% |xfFe o To & @i ot ?
(&) 945%0 (B) 850%0

(C) 925%o D) 1,085 %o |

A person took some loan from a bank at the rate of 15% annual interest. If he pays

back Rs. 7,250 after 3 years then what is the amount of loan ?
(A) Rs. 5,000 (B) Rs. 4,500
({C)] Rs. 6,500 (D) Rs. 5,500.

T 6 A 6 F T T 16% At = @it W IuR faawn | 7R fiF 9 9% 5% 7,250 To
Ifaw & 8, @ 397 R s SuR famn o ?

{A) 5,000%e (B) 4,500 %o

{C) 6,500%0 (D) 5,600 %o |

(HLLELL
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What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six

monthly ?
{A) Rs. 20 (B) Rs. 30
(C) Rs. 48 (D) Rs. 40.

500 %o ¥ 6 HER &1 8% Hi SWET & ¥ = g
(A) 20%o (B 30%o
[C) 48%o (D) 40%o |

A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a
gain of 10% to another person Z. What is the price at which Y sold the article to Z?

A Rs. 100 (B) Rs. 99
{C) Rs. 110 (D} Rs. 101.

Th AfF X, 100To R I H, 10% F AT A TG Y R AG e | vV, SH TG 7 10%
A Y e ZzHR SGAME, Y I fF9 [ea Wawg z 9=t ?

(A 100%0 (B) 99%¢0

Q) 110 %0 (D) 1017%0 |
Which is a plane in the following ?

(A)  Paper sheet (B) Glass

(C) Bal (D)  Cylinder.
gl 3 sF-@oma € ?

&) B B) fremE

() e (D) ST |

(ATERAN [ P.T.O.



Download from JbigDeal

L-1

74 @

110. Which of the following statements is not true ?

A

(B}

(&)

(D)

The figure formed by two rays passing through a point is called an angle
A closed figure formed by three line segments is called a triangle
A figure formed by three lines is called a trlangle

In a rectangle the length of opposite sides is same and each angle is a right

angle.

A s a wUA§ ?

A)

(B)

(€}

(D}

et u fog ¥ oA Tl & frol @ w0 ot 1 Fo wed ¥

TRt dt Tamavel ¥ fudt g o= Tl =i fas Fed ¥

ot = el ¥ fadl efa 1 e #ed €

3MER & SAFA-FEA & ST ®) TR G gl & a9 YA FI0 GRS §

111. Which of the following is true for a triangle ?

(A

(B)

(€

(D)

All the angles are always acute angle
One angle is always a right angle
One angle is always an obtuse angle

One angle is always an acute angle.

fFi e & fau e S FR-wm weA I ¥ 2

(A)

(B)

(&)

(D)

T U GeF =< HI0 E 8
T I HF FHH B R
TF FI0 wa faeh F0 7@ §

T HIU Hed A HIW T E )
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112. How many triangles are there in the following figure ?

A 5 B 4
€ 3 (D) 6.

et form  fove oy € 2

@ b5 (B) 4
© 3 (D) 6.
113. The sum of all interior angles of a square is
(a) 180° (B) 360°
() 270° (D)  none of these.
i F I/ T w1 A e ¥
(a) 180° (B) 360°

€ 270° (D) T | FE =T |

(LT [ PT.0.
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114. Which of the following statements is correct ?

115.

(A) A square is a particular type of rectangle
(B) A rectangle is a particular type of square
(C} Every ray is a line segment

(D) Straight angle is of 90°.
fAdds-aFmaa® ?

@) T fadw YR w1 S T R

(B) 3ad T fadm whR #1 a1l g ®

(C) ¥F o & tmrare g @

(D) &9 / WA HIUFH AT 90° TR } |

One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres. Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
@ 3.9 (B) 30, 90
@ 3,90 (D) 30, 9.

et M &1 U o9 @ § 250 H ST Tsa ¥ 1 TF Al 75000 9H S gHi ¥ 9%
o =t @rg 3R 3 feret #Y g T FA & fore 39 o e wes o B 2

w 3.9 (B) 30. 90

c 3,90 (D) 30, 9.

(LT [101
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On subtracting 8 metric tonne ( mt ) 50 kilogram from 12 metric tonne 8 quintals we

get

(A) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg

(C} 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm.

12 Hifgw =7 8 faaee § 9 8 Hifgw =9 50 fFawg wem W ym B &

(A) 3Tz =7 8w (B) adifyw =7 7 fweed 50 fvet 7w

(C) adifew = 8fFEea 50 fwen 7w (D) 3 ek =7 8faded 50 ffadt TH |

. A tank has 400 litre water. If 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what is the capacity of each can ?
(A) 121t 500 ml (B) 13 1t 500 ml
(C) 151t 500 ml (D) 14 1t 500 ml,

T Tl H 400 X 9t § 1 z@d @ 12 #ieX 500 firefielier uHt & # @1 % 9 99 9 6
WOH &Edl F 25 fesll o w11 9 & Wl fe= @ aman ®

(&) 12%t 500 faet (B) 13 e 500 fireft
() 15 500 fusht (D) 14 5000 |

Which of the following statements is incorrect for the time taken by big hand of a

clock to reach from one digit to exactly next digit ?

(Al 5 min (B) 300 sec

(C) 1172 hour (D} one hour.

uel ¥ gt g & Tt ofw @ Si% e % 7w TEen W @ 9l 'Ha & fae e A 8 el-m
AT ?

A) 5 B) 300%F<

1

TR (D) U H |

(€

IR LEL | P.T.0.
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119. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted field is
(A 1100m (B) 525 sq.m
Q) 1100 sq.m (D) 525 m.

T HEAHR g &1 g 60 T ae =gl 40T ¥ ) swd W R Wd wE 5 AeR §
U TS I A W T ST 9T 1 &SR B

Ay 1100 (B) 5250
(€ 11003 Ht (D) 525 |

120. A rectangular photo frame X is of 90 cm length and 70 cm width and a square frame Y

is of side 80 cm. Then which of the following is correct ?

(A}  Perimeter of frame X is 6300 sq.cm

(B) Perimeter of frame Y is 6400 sq.cm

(C} Perimeter of both X and Y frames is same and is equal to 320 sq.cm.
(D) Perimeter of both X and Y frames is equal to 320 cm.

T AR fos & B X ® = 90 ¥t qur SR 70 9 € oMK U SR FH Y o=
BOIME AFA TR FHT-WHFFA TAR ?

(A)  HE X 1 9AM 6300 =01 A6 g
(B) WU Y 1 THY 6400 T | M
(C) =T ¥ X a1 Y 1 qiay seT Ug 320 99 |E g

(D) =R HE X 99 Yo TREY 320 99 F 90«1 9 |
UL



